Investigation of

Congruent Triangles



Name(s): _____________________

In this activity you will investigate a congruent triangle and the three conditions of congruence: SSS, SAS, and AAS.

Steps:

1. Open up a new sketch in Geometer’s Sketchpad.  In the Display menu choose Preferences.  In the middle box change the Distance Unit to cm and its Precision to tenths.

2. Construct triangle ABC with AB = 6 cm, BC = 8 cm, and CA = 12 cm.  Do this by highlighting the Point tool, constructing three points and the selecting the three points and in the Construct menu choose Segment.  Select segment AB and in the Measure menu choose Length.  Do this for line segments BC and CA.  When you have all of the lengths drag points A, B and C so that you meet the requirements.
Can you construct triangle ABC?  ____________

Can you construct triangle PQR with PQ = 6 cm, QR = 8 cm, and RP = 12 cm such that its size and shape are different from triangle ABC?  Explain.

_______________________________________________________________________________________________________________________________________________________________________________________________________________

Are triangles ABC and triangle PQR congruent? ____________

If you have two triangles and you know the lengths of their sides, would you be able to determine if they were congruent? ____________

3. Construct triangle ABC with (A = 65o, (B = 85 o, and (C = 30 o.

Can you construct triangle PQR with (P = 65o, (Q = 85 o, and (R = 30 o such that its size and shape are different from triangle ABC?  Explain.

_______________________________________________________________________________________________________________________________________________________________________________________________________________

Are triangles ABC and triangle PQR congruent? ____________

If you have two triangles and you only know their angle measurement, would you be able to determine if they were congruent? ____________
4. Construct triangle ABC with AB = 8 cm, BC = 5 cm, and (C = 50 o.

Can you construct triangle PQR with PQ = 8 cm, PR = 5 cm, and (Q = 50 o such that its size and shape are different from triangle ABC?  Explain.

_______________________________________________________________________________________________________________________________________________________________________________________________________________

Are triangles ABC and triangle PQR congruent? ____________

If you have two triangles and you know two side lengths and one angle on each triangle, would you be able to determine if they were congruent? ____________

5. Construct triangle ABC with (A = 62o, (B = 80 o, and BC = 6 cm.

Can you construct triangle PQR with (P = 62o, (Q = 80 o, and QR = 6 cm such that its size and shape are different from triangle ABC?  Explain.

_______________________________________________________________________________________________________________________________________________________________________________________________________________

Are triangles ABC and triangle PQR congruent? ____________

If you have two triangles and you know two angle measures and one side length, would you be able to determine if they were congruent? ____________







